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Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises two sections — A and B. All questions are
compulsory.

(it)  Question numbers 1 — 10 and 18 — 27 are very short-answer questions
carrying 1 mark each. They are required to be answered in one word or
one sentence each.

(iti) Question numbers 11 — 12 and 28 - 29 are short-answer questions

carrying 3 marks each. Answers to them should not normally exceed
60 — 80 words each.

(iv) Question numbers 13 — 15 and 30 — 32 are also short-answer questions
carrying 4 marks each. Answers to them should not normally exceed
80 - 100 words each.

(v) Question numbers 16 — 17 and 33 — 34 are long answer questions carrying

6 marks each. Answers to them should not normally exceed
100 - 150 words each.

(vi) Answers should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice. However, an internal choice has been provided
in 2 questions of one mark, 2 questions of three marks, 2 questions of four
marks and 2 questions of six marks. Only one of the choices in such
questions have to be attempted.

(viit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Macro Economics)

1. is the agent and adviser to the Government of India.
(Fill in the blank with correct answer) 1
2. State whether the following statement is true or false : 1

“To reduce inflation, the Central Bank should reduce Cash Reserve Ratio
(CRR).”

3. Define Aggregate Demand. 1

581212 3 PT.0.




4. T 9SG W EH 911 T 99, ThHR] S I HT Toh TR
2| (Tt I g T Toe 61 gfd hife) 7
5. e TgEY g %d i T HR TH 3 | 1
(Tgt foepeu o1 ==A hifoe)

(A) el IHAN S g
(B) Uohdd IYIANT IUHRAT I&q
(C) T 3uvh g

(D) rd-fehrs IuvhT 9%

YT
Feffiad § 9 F-81 ¥ Tha TS 3ca1g (GNP) STaehifae i gurial § ? 1
(Tt faeshed &1 ==m hifse)
(A) GNP 100
X
g GNP
(B) GNP 100
e GNP *
(C) GNP 100
- X
HETEhITd 1 3 | i
erehifa 1 g T qiEaq
(D) x 100
TEfas GNP

6. e grhr fret Tam W e o fawafaeme weanfia et 2, d 39 W fhar 9
TAT T GThT 91 hT Y 1 Th YhH & |

(T8 I g Tea Toe i g i) 1
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4, Government expenditure incurred on defence items is a type of
expenditure in the Government Budget.
(Fill in the blank with correct answer) 1
5. A car purchased by a household is a . 1
(Choose the correct alternative)
(A) single use capital good
(B)  single use consumer good
(C)  durable consumer good
(D)  semi-durable consumer good
OR
GNP deflator is represented by which of the following formulae ? 1
(Choose the correct alternative)
(A) Nominal GNP <100
Real GNP
(B) Re'al GNP <100
Nominal GNP
©) 'Real GNP 4100
Change in Rate of Inflation
D) Change in Rate of Inflation <100
Real GNP
6. If the Government establishes a new wuniversity, this expenditure

incurred in the Government Budget will be a type of

expenditure. (Fill in the blank with the correct answer) 1

581212 5 PT.0.




10.

11.

12.

gfe fopelt Srefeuazen 6 wrqul sifafem ot w1 3w foRen Sram &, a1 feaw
TUTh T T BT | (Tgt foereu o1 = hifse)
(A 3 0)

(B)  STINWING (w)

(C) Tk (1)

(D) <™ (10)

T AT for T shieufdes stefeuaeen #, ™ i TR T 500 HS T 9¢ R
T 600 HUS & Il B | UmHG:, UM ¥ T 400 HUS F W]
T 500 HUS & A1 7 | 39 IRfEAfd § e a9 Sgia w1 7=

BT | (Tl foeheq =1 =F Hifw)
A) 08
(B) 04
) 10
(D) 06
Togett @ W g AW HdeH @ % (STw1/AT) vt § s fohm
STE | (T8 I g Tk T i gfd hifo)

T I (TREa) Tl o his 2l 3ereLul Siwe |

“Thdt =T 3I7UTE (GDP) Torelt gm1 it Srefeuawen W i e S HaH
ek T8l 7 1”7 U T M 1 W= SR dfgd THeH AYan Wed i |
Ife FHy AT hT g H qH AN AR 7, A 39 gifeafd § quEeE 99
i R i ==t FHIfT |

arera

Ifg Ueh 3refeewan 7
AT s=rd Jgi (MPS) = 0-2
yRiYes fraw & 9ftada (AD = T 2,000 HUS &
freferfiea < Joa F1a il
(a) o= Uk (K)
(b)  Afqm A H ufgdH (AY)
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11.

12.
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If the entire additional income of an economy is consumed, the value of
investment multiplier will be . (Choose the correct alternative)

(A)  zero(0)

(B)  not defined ()
(C) one(1)

(D) ten (10)

Suppose in a hypothetical economy, the income rises from ¥ 500 crores to
¥ 600 crores. As a result, the consumption expenditure rises from
T 400 crores to ¥ 500 crores. Marginal propensity to consume in such a

case would be . (Choose the correct alternative)
A 08
(B) 04
©) 10
(D) 06
‘Charity from Abroad’ will be recorded on (credit/debit) side of

the Balance of Payment accounts. (Fill in the blank with correct answer)
Give any two examples of non-tax revenue receipts.

“Gross Domestic Product (GDP) is not the best indicator of the economic
welfare of a country.” Defend or refute the given statement with valid

reasons.

Discuss the working of the adjustment mechanism if, Aggregate Supply
is greater than Aggregate Demand.

OR
If in an economy :
Marginal propensity to save (MPS) = 0-2
Change in initial investment (AI) = ¥ 2,000 crores
Find the value of the following :

(a)  Investment multiplier (K)

(b)  Change in final income (AY)
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13.

14.

15.

16.

Hcld o fhE THR S e hl gEEdr 4 9rg FREEa s g 2 smen
HIT |

AT

T fod S grn, o e § @ % fou svam foer S 9t ot @
el bl foear 9 fag=mn hifse |

“Teh <31 o THAT a9i¢ H T 91 o 3fEdca o foaT Torepidiy =rer &% |1
Hehdl |” feu 7T sed w1 TR 31¥ET Wed i |

“Iioet Ttk AR U SWER SfeR (US $) T 0-75 99 9fd Siel (p/$) i 38T gt
7 ¥; 78 uRfeufa orem-stem yehr & samaiiEt (fFafaet qen smamdt) % fore
qEhUge a1 3aTE! & Fehcll 7 |7 feu 7w shem =1 Sitfaca fag Hifs |

Tsh hicq-eh Afeaaee o Afaiad Aiehel o 3w ¥, feu mu a9t & foig

qrEdfeeh Hehel BT 3¢ATE (GDP) hi TUHT & a1 shifT
EL] 2015 — 16 2016 — 17
Hifgeh GDP 9% 8%
GDP 31a&hifdeh 150 160
ToaT

(a) “TH q-qFh AT T A H Igd YA W WAGG (axiom) W
et 8 Top TorEll T 1 =2 B Sl o1 Bl 8 |7 W Rl Eled T

I kT FHAT HIfST |

(b) ‘3G & oo ad eI ghg H AR T HIT |
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13.

14.

15.

16.

How does the Central Bank control the credit with the help of ‘Bank
Rate’ ? Explain.

OR

Elaborate any two instruments of credit control, exercised by the Reserve
Bank of India.

“The Government Budget of a country cannot have fiscal deficit without

the existence of revenue deficit.” Defend or refute the given statement.

“US dollar has recorded a jump of 0-75 paise per dollar (p/$) in the last
one month; this situation might bring smiles and sorrows to different

types of traders (exporters and importers).” Justify the given statement.

Using the following data of an imaginary economy, calculate and compare

the Real Gross Domestic Product (GDP) for the given years :

Year 2015 -16 2016 — 17
Nominal GDP Rate 9% 8%
GDP deflator 150 160
OR
(a)  “Circular flow of income in a two-sector economy is based on the

axiom that one’s expenditure is other’s income.” Support your

answer with valid reasons.

(b)  Distinguish between ‘value of output’ and ‘value added’.

442
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17. feu u fuag 9, ‘KT 31aUa 1 YeiRid idl 3 2 39 INfEafd & auee & fae
gl 1 ToreRT 3UT 1 3g@ 9 ==t HIT |

y

- ADl(C+I+AI)

>

HHY HIT

K_.-— AD(C+1)

45°
Yp

gl BTt 3 7

FAIEHIfA 3T 1 T I 7 ? EEhIT AU hl GRfEafd & gaeE & fou
foregl @ TTeRIST UM 1 Ig@ o <= T |

QT E
(W stefeaaTen 1 foewm )

18. ffafad o @ wi9-a1 Sfas ©dl &1 uh v g7 8 2
(T fasped =1 == i)

(A) | A

(B) a9 w amepdes ufaea
(C) 3T i AH FHEAY
(D) 3= 9NY HH

19. ¥rd ¥ o foaaeo & foru sid geen 1 am fafew |
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17. In the given figure, what does the gap ‘KT’ represent ? State and discuss
any two fiscal measures to correct the situation.

y
- ADl(C+I+AI)

E

g K AD(C+D)
'_8 //,4
o |-

&

o T

a0

ap
<

45°
v X
F Income

For Visually Impaired Candidates :

What is meant by deflationary gap ? State and discuss any two fiscal

measures to correct the situation of deflationary gap.

18. Which of the following is not an advantage of organic farming ?

(A)
(B)
(®)

(D)

19. Name the apex institution for rural financing in India.

581212

SECTION B

(Indian Economic Development)

(Choose the correct alternative)

Cheap inputs
Attractive returns on investment
Greater possibilities for import

High nutritional value
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20. Sl & SFTEETRIh Gid hl Ueh 33 2 |
(Tgt foepeu 1 ==A hifoe)
(A) SIS Ahel
(B) i

(C) M I FHSI-H=
(D) @R & 39

21. FHicGH [ H T TS TEAST & HM & 1Y AW b Fiow I1 46 few v faeheut
% TE! 3TIRH hi TEAH hHIT :

FHicaq I BHiaq I1

a. | Tova AR @764 (WTO) | (i) | JTaH Tqed hl THET i §A B
% TOTT STeushiel =0T YgH &l ¢ |

b. | g fsel s (RBI) (i) | Toh SEUETE SR ATt e 7 |

c. | AT HgT N (IMF) | (iii) | G-I iR fopra & fotw o <3 6

gfaen JgM @ |
d. | TR gafmior 3 (iv) | T T g 1d S 2 |
faeta & (IBRD)
fr=fafaa # 9 g€l faeq 1 =@ HifSw .
(A)  a-(id), b-(1), c-(iii), d-(iv)
(B)  a-(id), b-(iv), c-(iii), d-(i)
(C) a-(ii), b-(iii), c-(iv), d-(1)
(D) a-(Gi), b-(iv), c-(1), d-(1i1)

22, o T YR THR A 6 ° 14 T4 & o9 aft s=a1 = fore fren f:ses
qem e T & oft | (Tgt forepey 1 == hifoe)
(A) 2001
(B) 2009
(C) 2003
(D) 2007

Aat

580212 12




20. is an example of a commercial source of energy. 1
(Choose the correct alternative)

(A)  Firewood

(B) Coal

(C)  Agricultural waste
(D)  Dried dung cakes

21. Identify and match the correct sequence of alternatives of organisations

given in Column I with their respective functions in Column II : 1
Column 1 Column I1

a. | WTO (i) | provides short-term loans to solve
the Balance of Payments problem.

b. | RBI (i1) | is a multilateral trade negotiating
body.

c. | IMF (ii1) | facilitates lending for reconstruction
and development.

d. | IBRD (iv) | is the Central Bank of India.

Choose the correct alternative from the following :
(A)  a-(i1), b-(1), c-(iii), d-(iv)
(B)  a-(ii), b-(iv), c-(iii), d-(i)
(C)  a-(ii), b-(iii), c-(iv), d-(i)
(D)  a-(ii), b-(iv), c-(i), d-(iii)

22, In the year , the Indian Government made education free and
compulsory for all children between 6 — 14 years. 1
(Choose the correct alternative)
(A) 2001
(B) 2009
(C) 2003
(D) 2007

OR

581212 13 PT.0.




23.

24.

25.

26.
217.

28.

29.

fefefigd & 9 19-91 984 9Rd O ey &3 ol fafBd ear g 2

(T fasheq =1 ==F i)
(A) ICMR
(B) UGC
(C) AICTE
(D) RBI

3ot shifere fop FfeiRaa sum gca 8 219e 3
“qfer dmr fraicer @1 ot 7 foReht =afo o fote, yfi-gmor st =Eaw =i Faff@
m%l”

T <l TIW H1q G=aHid AeHTsTi | Hfd 1 ST T I
GTRIOT o ToAu Topam T o | (T I g T o 61 gfd i)

Iooig shifoe fop fmafeRaa oM oc 3 31ear 319 .
“qrierea I AT H, WRA H TS W@ 8 = @ aTel AT Sl 1A ATk
%|7’

et e Tt ot T AW fafEu |
Tq13M 4 e iy B I I a9 T &l oft |
(T fasped =1 == i)
(A) 1951
(B) 1955
©) 1958
(D) 1962

“ITT THR A B B H dedl g3 BIAl o R MTNL do1 BSNL o faea
) =i 1 8 17 YR TR g0 331U T sheAl ol e fag Hifve |

“ard o fostell (ITF) & 1 2 yg@ I Bl AT HET Al § 17 fu
T YT ! HTI=T dehl dfgd ==l ity |
areraT

“1964 — 66 = e T S FHEIRE H AT FE H IRA TR @ 3 |7
fqu U e & THYH | T deh TEA HITT |

580212 14
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24.

25.

26.

217.

28.

29.

581212 15 PT.0.

Which one of the following organisations regulates the health sector in

India ? (Choose the correct alternative)
(A) ICMR

(B) UGC

(C) AICTE

(D) RBI

State whether the following statement is true or false :

“Land ceiling means fixing the minimum limit of land holding for an
individual.”

policy was implemented in the first seven five-year plans of
India, to protect domestic industries.
(Fill in the blank with the correct answer)

State whether the following statement is true or false :

“Proportion of people living below poverty line is more in India as
compared to Pakistan.”

Name any one Navratan company.

Mao initiated the ‘Great Leap Forward’ in the year .
(Choose the correct alternative)

(A) 1951
(B) 1955
(C) 1958
(D) 1962

“Recently the Government of India has decided to merge MTNL and
BSNL on account of rising losses.” Justify the steps taken by the
Government of India.

“Power sector in India has major challenges to face.” Discuss the given
statement with valid reasons.

OR

“India has failed to implement the recommendations of Education
Commission of 1964 — 66.” Give valid arguments in support of the given
statement.

3
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30. Y PR % WY, YA R = o fou mu et H gorr o fageivor Hifvw

- SHEE I aTftes gig ISRIREIK
(2015) (9fd &R g&N)

TG 1-2% 929

Eic| 0-5% 941

Hrd : foa T gehass, 2015

31. TGAA 1 YE-HEAT W WRA hl SHifhhE uifeufa f R @1 g
forryarati W fewoft i |

32. WY H Tl i€ ok, fohe TR TEATTA GO (YW FIW) 5 WRA HN !
Seet § Tgeyul e s 7 |

AT

“Tresht g ver &t s=a 9 omcn-Fvtar & el I % WY WRa §
A gfdey @me W ¥ |7 A dehl Wied U TN wed w1 Ififuew fug
HifS |

33. Tr=fciRga st fonfya i -
(a) TS W@
(b) AW gSit

(c) TII-HERIAl 993

(d) i@ i
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30. Compare and analyse the given data of India and China with valid

reasons :
Sex ratio
Countr Annual growth rate of (per
Y population (2015) thousand
males)
India 1-2% 929
China 0-5% 941

Source : World Development Indicators, 2015

31. Comment upon any two salient features of demographic conditions of

India on the eve of Independence.

32. Discuss briefly, how institutional reforms (land reforms) have played a

significant role in transforming Indian agriculture.

OR

“Import restrictions were imposed in India with the dual objective to save

foreign exchange reserves and to be self-sufficient.” Justify the given

statement with valid arguments.

33. Define the following :
(a)  Poverty Line

(b) Human Capital

(c) Self-Help Groups

(d) Green Revolution

581212
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34. (a) T H o ¥ SR o i |
(b)  STHeh-SHEEAT 3TUTd T gim forfau | 4+2
AAAT
A § TaAdl | Te Toh - fhU T Tl I Hrishul o TROMHT
JTeATeHTcHS qaE HfT | 6
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34. (a) Comment upon the informalisation of labour force in India.
(b)  Define the worker-population ratio. 4+2

OR

Critically examine the results of Poverty Alleviation Programmes
implemented in India since independence. 6

581212 19




